	
	
	6
	
	4
	3
	2
	
	
	
	
	3
	5
	1
	4
	

	
	-
	5
	2
	5
	
	7
	
	
	-
	4
	5
	
	5
	9
	

	
	
	1
	4
	9
	1
	5
	
	
	
	3
	7
	6
	5
	
	

	
	
	
	

	
	
	3 
	9
	2
	6
	
	
	
	
	5
	2
	3
	
	4
	8

	
	-
	
	8
	5
	
	7
	
	
	-
	1
	
	8
	4
	5
	1

	
	
	3
	
	7
	1
	6
	
	
	
	3
	4
	5
	1
	9
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	2
	6
	8
	4
	1
	
	
	
	9
	
	3
	7
	5
	0

	-
	3
	5
	9
	
	2
	7
	
	
	-
	8
	2
	
	6
	0
	8

	
	3
	6
	7
	2
	1
	
	
	
	
	1
	1
	4
	1
	
	2

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	6
	4
	9
	
	0
	2
	
	
	
	8
	0
	9
	0
	2
	

	-
	3
	
	7
	5
	6
	8
	
	
	
	4
	6
	
	1
	0
	3

	
	3
	2
	
	4
	3
	4
	
	
	
	
	4
	1
	3
	2
	4

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Smudged Calculations!
Part of these calculations were destroyed when rain smudged some of the numbers.  Can you find out what the missing numbers are?





1)  24561 + 5632 =
2)  24598 – 2354 = 
3)  94586 + 3654 = 
4)  5248.25 + 365.21 =
5) [bookmark: _GoBack] 9654 x 10 = 
